Note: For vectors it is useful to invent a notation that distinguishes unit vectors (&) from generic vectors (V). For those same
reasons, below I've used u(z) to denote a normalized wavefunction, i.e., [u*(z)u(z)dz = 1; just as a unit vector is a vector, u(z) is
a 1. While this notation is not standard, I find it useful.
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Particle-in-a-box with V(x) = 0 for |z| < a, but V(z) = co elsewhere. Note: L = 2a n=123...
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Particle-in-a-box with V(z) = —V} for |z| < a, but V(z) = 0 elsewhere
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Harmonic Oscillator with V(z) = 3 mw?a? E, =hw(n+ %) n=20,1,2...

[n) = un(x) = NpH,(€) e 2% where &= ,/% x and H, is an n'" degree polynomial
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